
GENERAL SCIENCE – MPOST IMPORTANT QUESTIONS ASKED IN ALP -
2024 

 

1. Which is the energy gained by an object due to change in its position or 
configuration?/कौन सी व(तु +वारा इसक/ ि(थ2त या 4व5या स म7 प9रवत:न के कारण =ा>त ऊजा: 
को कहते हC। 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Kinetic energy/ग2तज ऊजा: 
(b) Potential energy/ि(थ2त ज ऊजा: 
(c) Electromagnetic energy/वै+युतचुHबक/य ऊजा: 
(d) Nuclear energy/नाJभक/य ऊजा: 
 
2. In which cell part is ATP produced?/एटNपी (ATP) का उQपादन Sकस कोJशकां ग म7 होता 
है? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Chloroplasts 
(b) Lysosome 
(c) Endoplasmic reticulum 
(d) Mitochondria 
 
3. Select the correct balanced reaction for CuO + NH --------------> Cu + N + HO. 
CuO + NH  --------------> Cu + N + H O के Jलए सहN संतुJलत अJभSXया का चयन क/िजए। 
(a) 3CuO + 2NH3 → 3Cu + N2 + 3H2O  
(b) 2CuO + 3NH3 → 3Cu + N2 + 3H2O  
(c) 3CuO + 2NH3 → 3Cu + N2 + 3HO  
(d) 3CuO + 2NH3 → 3Cu + 2N2 + 3HO 
 
4. The amount of force required to accelerate a 10 kg mass at 2.5 m/s² is ....? 2.5 
m/s² पर 10 kg YZयमान को Qव9रत करने के Jलए आव\यक 
बल क/ मा]ा .... हC 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) 7.5 N 
(c) 3.4 N 
(b) 12.5 N 
(d) 25 N 
 
5. If the force of attraction between the earth and an apple placed at a distance of 
'x' is 'F', then how much force will be applied on placing the same apple at a 
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distance of '2x'?/य_द पaृवी और 'x' दरूN पर रखे एक सेब के बीच आकष:ण बल 'F' है, तो उसी सेब 
को '2x' दरूN पर रखने पर Sकतना बल लगेगा ? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) 2F 
(b) F/4 
(c) F/2 
 (d) 4F 
 
6. Traits can be influenced by which of the following?/लfण (Traits) 2नHनJलgखत म7 से 
Sकससे =भा4वत हो सकते हC? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Only paternal DNA/केवल पैतकृ डीएनए (DNA) 
(b) Only maternal DNA/केवल मातकृ डीएनए (DNA) 
(c) Only maternal DNA/केवल मातवंृशी (नाना -नानी) डी एनए (DNA) 
(d) Both paternal DNA and maternal DNA/पैतकृ डीएनए (DNA) और मातकृ डीएनए (DNA), 
दोनk 
 
7. Which of the following are the characteristics of striated muscles?/2नHनJलgखत म7 
से कौन-सी रेgखत पेJशयk क/ 4वशषेताएं हC? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Cylindrical, unbranched and multinucleated/बेलनाकार, अ-शाgखत और बहुक7 Yक/य 
(b) Cylindrical, branched and multinucleated/बेलनाकार, शाgखत और बहुक7 Yक/य 
(c) Cylindrical, branched and multinucleated/बेलनाकार, शाgखत और बहुक7 Yक/य 
(d) Curved, unbranched and uninucleated/वXाकार , अशाgखत और एकक7 YNय 
 
8. Electrical appliances like laundry iron, electric toaster, electric oven, electric 
kettle and electric heater are based on which effect of electric current?/इ(]ी 
(laundry iron), इलेिlmक टो(टर, इलेिlm क ओवन, इलेिlmक केतलN और इलेिlmक हNटर जैसे 
4व+युत उपकरण 4व+युत धारा के Sकस =भाव पर आधा9रत होते हC? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Thermal effect/ऊpमीय =भाव 
(c) Magnetic effect/चंुबक/य =भाव 
(b) Chemical effect/रासाय2न क =भाव 
(d) Functional effect/SXयाQमक =भाव 
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9. Which of the following options represents metals that do not react with cold 
water? /2नHनJलgखत म7 से कौन-सा 4वकqप उन धातुओं को दशा:ता है जोठंड ेजल के साथ अJभSXया 
नहNं करती हC? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Aluminium, Iron and Zinc/ऐqयुJम2नयम, आयरन और िजंक 
(b) Sodium, Calcium and Potassium/सोtडयम, कैिqशयम और पोटैJशयम 
(c) Sodium, Calcium and Zinc/सोtडयम, कैिqशयम और िजंक 
(d) Sodium, Iron and Potassium/सोtडयम, आयरन और पोटैJशयम 
 
10. A series of compounds in which hydrogen located in the carbon chain is 
replaced by the same type of functional group is called./यौuगकk क/ एक ऐसी vृंखला 
िजसम7 काब:न vृंखला म7 ि(थत हाइwोजन को एक हN =कार का =काया:Qमक समूह =2त(था4पत करता है, 
उसे कहते है। 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Isomers/समावयवी 
(b) Catenation/vृंखलन 
(c) Homologous series/समजातीय vेणी 
 (d) Heterogeneous series/4वषमजातीय vेणी 
 
11. The atomic number of an atom is equal to?/Sकसी परमाणु का परमाणु Xमांक Sकसके 
बराबर होता है? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Total number of protons present in the nucleus of an atom/Sकसी परमाणु के 
नाJभक म7 उपि(थत =ोटॉनk क/ कुल संyया 
(b) Sum of the number of protons and neutrons/=ोटॉनk और 5यूmॉनk क/ संyया का योग 
(c) Half the number of electrons present in the nucleus of an atom/Sकसी परमाणु के 
नाJभक म7 उपि(थत इलेlmॉनk क/ संyया का आधा 
(d) Sum of the number of electrons and neutrons/इलेlmॉनk और 5यूmॉनk क/ संyया का 
योग 
 
12. In case of reflection of light from a convex mirror, when a parallel ray of light 
is incident on the reflecting surface, the reflected light appears to be _____/उzल 
दप:ण से =काश के परावत:न के मामले म7, जब =काश क/ एक समांतर Sकरण परावत:क सतह पर 
आप2तत होती है, तो पराव2त:त =काश _____ =तीत होता है 
Alp CBT-1 25 Nov 2024 Shift-I 
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(a) Converged at the centre of curvature/वXता क7 Y पर अJभस9र त 
(b) Diverged from the centre of curvature/वXता क7 Y से अपस9रत 
(c) Diverged from the principal focus/मुyय फोकस से अपस9रत 
(d) Converged at the principal focus/मुyय फोकस पर अJभस9रत 
 
13. Due to which the particles of matter are in constant motion?/पदाथ: के कण Sकसके 
कारण 2नरंतर ग2तमान रहते हC? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Nuclear energy/नाJभक/य ऊजा: 
(c) Mechanical energy/यां|]क ऊजा: 
(b) Chemical energy/रासाय2नक ऊजा: 
(d) Kinetic energy/ग2तज ऊजा: 
 
14. Which of the following is obtained when hydrochloric acid reacts with water? 
जब हाइwोlलो9रक अHल जल के साथ अJभSXया करता है तो, 2नHनJलgखत म7 से lया =ा>त होता है? 
Alp CBT-1 25 Nov 2024 Shift-I 
 
(a) HO- and CI- 
(b) Only H3O+ 
(c) Only CI- 
(d) Both HO+ and CI- 
 
15. The cranial nerves emanating from the brain and the spinal nerves emanating 
from the spinal cord together form what?/मि(तpक से 2नकलने वालN कपाल तं|]काएं तथा 
मे}र~जु से 2नकलने वालN मे�तं|]काएं Jमलकर Sकसका 2नमा: ण करती हC? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Endocrine system/अंतः �ावी तं] 
(b)Autonomous nervous system/ (वायz तं|]का तं] 
(c) Peripheral nervous system/प9रधीय तं|]का तं] 
(d) Central nervous system/क7 YNय तं|]का तं] 
 
16. The phenomenon of twinkling of stars is related to./तारk का _टम_टमाना क/ 
प9रघटना से संबंuधत है। 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Refraction of light/=काश के अपवत:न 
(c) Interference of light/=काश के Zय2तकरण 
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(b) Interference of light/=काश के Zय2तकरण 
(d) Dispersion of light/=काश के 4वfेपण 
The twinkling of stars is mainly due to refraction.  
The light from the stars gets deflected when they are exposed to different 
temperatures and densities in the air and in the atmosphere. When a ray of light 
travels from one medium to another, it gets bent, this phenomenon is known as 
refraction. 
तारk का _टम_टमाना मुyय }प से अपवत:न के कारण होता है। 
जब वे हवा म7 और वायुमंडल म7 अलग-अलग तापमान और घनQव के संपक:  म7 आते हC, तो तारk से 
=काश अलग हो जाता है।  
जब =काश क/ Sकरण एक मा�यम से दसूरे मा�यम तक जाती है, तो यह झुक जाती है, इस घटना को 
अपवत:न के }प म7 जाना जाता है। 
 
17. Which of the following devices does not use the magnetic effect of electric 
current?/2नHनJलgखत  म7 से कौन-सा उपकरण 4व+युत धारा के चंुबक/य =भाव का उपयोग नहNं 
करता है? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) 4व+युत मोटर (Electric motor) 
(b) माइXो फ़ोन (Microphone) 
(c) 4व+युत ज2न] (Electric generator) 
(d) चुHबक/य _दlसूचक (Magnetic compass) 
 
18. In the case of jelly, which of the following is the dispersed phase?/जेलN क/ ि(थ2त 
म7, 2नHनJलgखत म7 से कौन-सी प9र�f>त =ाव(था (dispersed phase) है? 
Alp CBT-1 25 Nov 2024 Shift-I 
(a) Liquid phase/Yव =ाव(था 
(b) Both solid and liquid phase/ठोस और Yव दोनk =ाव(था 
(c) Both solid and liquid phase/ठोस और Yव दोनk =ाव(था 
(d) Solid phase/ठोस =ाव(था 
 
19. Which of the following is an example of emulsion?/2नHनJलgखत  म7 से कौन-सा 
इमqशन (emulsion) का एक उदाहरण है? 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) Sponge 

(b) Rubber 
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(c) Face Cream 
 (d) Foam 
 
 
20. What is the function of xylem?/जाइलम का काय: lया है? 
(a) Transportation of proteins/=ोटNन का संवहन 
(b) Transportation of fats/वसा का संवहन 
(c) Transportation of water and minerals/जल एवं ख2नजk का संवहन 
(d) Transportation of food/भोजन का संवहन 
The main function of xylem and phloem is to transport substances in plants. 
 Phloem carries sugars and nutrient sap and xylem carries water and minerals up 
from the roots.  
Xylem also provides support to plants and is the primary substance in wood. 
जाइलम और �लोएम का मुyय काय: पौधk म7 पदाथ� का प9रवहन करना है। 
 �लोएम शक: रा और पोषक रस ले जाता है और जाइलम जड़k से पानी और ख2नज ऊपर ले जाता है।  
जाइलम पौधk को सहारा भी देता है और लकड़ी म7 =ाथJमक पदाथ: है। 
 
21. According to the second law of motion, the rate of change of momentum is 
proportional to........?ग2त के दसूरे 2नयम के अनुसार, संवेग प9रवत:न क/ दर.........के समानुपाती 
होती है 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) Inertia/जड़Qव 
(c) Force/बल 
(b) Energy/ऊजा: 
(d) Displacement/4व(थापन 
 
22. The kinetic energy of a body of mass 2 kg moving at a constant velocity of 5 
m/sec is _______________./5 m/sec के ि(थर वेग से ग2तमान 2 kg YZयमान वाले एक 4पडं 
क/ ग2तज ऊजा: _______________है। 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) 50 जूल 
(c) 10 जूल 
(b) 25 जूल 
(d) 100 जूल 
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23. How many molecules of water react with three molecules of iron atom to 
form Fe3O4?/जल के Sकतने अणु आयरन परमाणु के तीन अणुओं के साथ अJभSXया करके Fe3O4 
बनाते हC? 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) 1 
(c) 3 
(b) 4 
(d) 2 
 
24. Which of the following terms is used for impurities like clay and sand present 
in ores?/2नHनJलgखत म7 से Sकस श�द का =योग अय(कk म7 उपि(थत Jम�टN और रेत जैसी 
अशु+uधयk के Jलए Sकया जाता है? 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) अय(क क/ कठोरता (Hardness of ore) 
(b) गालक (Wrought) 
(c) (पंजी (Spongy) 
(d) गCग (Gangue) 
 
25. Which cell's shape keeps changing?/Sकस कोJशका का आकार बदलता रहता है? 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) Ovum/अंडाणु 
(b) Smooth muscle/uचकनी पेशी 
(c) Amoeba/अमीबा 
(d) Nerve cell/तं|]का कोJशका 
 
26. Which of the following examples shows that there is sufficient space between 
the particles of matter?/2नHनJलgखत म7 से कौन-सा उदाहरण यह दशा:ता है Sक पदाथ: के कणk के 
बीच पया:>त 9रlत (थान होता है? 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) Boiling of water/पानी का उबलना 
(b) Breaking of iron nail/लोहे क/ क/ल का टूटना 
(c) Burning of incense stick/अगरबzी का जलना 
(d) Potassium permanganate being evenly distributed in water/पोटेJशयम परमैगनेट का 
पानी म7 सामान }प से 4वत9रत होना 
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27. Which product(s) is/are formed by the reaction between acid and base?/अHल 
और fार के बीच अJभSXया से कौन-सा /कौन-से उQपाद बनता है/बनते हC? 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) Salt and water/लवण और जल 
(b) Only water/केवल जल 
(c) Salt and hydrogen gas/लवण और हाइwोजन गैस 
(d) Only salt/केवल लवण 
 
28. What is the pattern of magnetic field lines at the centre of a circular current 
carrying coil?/वzृाकार 4व+युत धारावाहN कंुडलN के क7 Y पर चंुबक/य fे] रेखाओ का पैटन: कैसा होता 
है? 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) Direction of current/धारा क/ _दशा 
 (b) Colour of conductor/संवाहक का रंग 
(c) Shape of conductor/संवाहक का आकार 
(d) Material of conductor/संवाहक का =दाथ: 
 
29. Harmful metabolic wastes are removed from our body by which biological 
process?/हमारे शरNर से हा2नकारक चयापचय अपJशpटk को Sकस जै4वक =SXया +वारा 2नpकाJसत 
Sकया जाता है? 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) Secretion/�ाव 
(b) Transportation/प9रवहन 
(c) Excretion/मलQयाग 
(d) Excretion/उQसज:न 
 
30. The phenomenon involved in the formation of images by mirrors is ..../दप:णk 
+वारा +वारा =2त|बHब के बनने म7 शाJमल प9रघटना ....है। 
Alp CBT-1 25 Nov 2024 Shift-III 
(a) Reflection/परावत:न 
(b) Interference/Zय2तकरण 
(c) Refraction/अपवत:न 
 (d) Diffraction/4ववत:न 
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31. The equivalent resistance of two resistors of resistance R ohm each connected 
in series is.?/vेणी Xम म7 जुड़ े=Qयेक R ओम =2तरोध के दो =2तरोधकk का तुqय =2तरोध है। 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) 2R ओम 
 (b) 3R ओम 
(c) 2/R ओम 
(d) R/2 ओम 
 
32. According to the law of constant proportions, what will be the correct ratio of 
oxygen and hydrogen (O: H) obtained after the decomposition of 18 g of 
water?/ि(थर अनुपात के 2नयम के अनुसार, 18 g पानी के अपघटन के बाद =ा>त ऑlसीजन और 
हाइwोजन (O: H) का सहN अनुपात lया होगा ? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) 4:14 
(b) 14:4 
(c) 16:2 
 (d) 2:16 
 
33. Chlor-alkali NE process is used to prepare which of the following 
compounds?/2नHनJलgखत म7 से Sकस यौuगक को तैयार करने के Jलए lलोर - fार (chlor-
alkali) NE =SXया का उपयोग Sकया जाता है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Na CO 
(b) NaCl 
(c) NaOH + Cl 
(d) NaHCO 
 
34. The magnification produced by a convex mirror for an object of height 5 cm is 
0.2. Here, the height of the image is .............. 
5 cm ऊंचाई वालN Sकसी व(तु के Jलए उzल दप:ण +वारा उQप5न आवध:न 0.2 है। यहां, =2त|बHब क/ 
ऊंचाई .............. है। 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) 0.4 cm 
(b) 1 cm 
 (c) 10 cm 
 (d) 1.5 cm 
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35. The work done by a constant force of 5 newtons applied on a body is 5 joules. 
The force applied is. The displacement of the body in the direction of............ is./ 
Sकसी 4पडं पर लगने वाले 5 5यूटन के 2नयत बल +वारा Sकया गया काय: 5 जूल है। लगाए गए बल है। 
क/ _दशा म7 4पडं का 4व(थापन............ है | 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) 100 m 
(b) 1000 m 
 (c) 1 m 
 (d) 10 m 
 
36. Which of the following non-metals is a liquid?/2नHनJलgखत म7 से कौन-सी अधातु एक 
Yव है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Bromine/�ोमीन 
(c) Chlorine/lलोरNन 
(b) Sulphur/सqफर 
(d) Fluorine/�लोरNन 
 
37. Which of the following organisms does not reproduce asexually by 
fission?/2नHनJलgखत म7 से Sकस जीव म7 4वखंडन +वारा अलCuगक =जनन नहNं होता है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Leishmania/ले(मा2नया 
(b) Amoeba/>ले~मोtडयम 
(c) Earthworm/क7 चुआ 
(d) Amoeba/अमीबा 
 
38. What is the valency of carbon?/काब:न क/ संयोजकता lया है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) three/तीन 
(c) two/दो 
(b) four/चार 
(d) six/छ: 
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39. Which of the following does not have any membrane?/2नHनJलgखत  म7 से Sकसम7 
कोई भी gझqलN नहNं होती है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Plant cell/पादप कोJशका 
(b) Virus/4वषाणु 
(c) Fungal cell/कवक कोJशका 
 (d) Animal cell/जंतु कोJशका 
 
 
40. Which of the following physical quantities represents the rate of change of 
velocity?/2नHनJलgखत म7 से कौन-सी भौ2तक राJश वेग प9रवत:न क/ दर को दशा:ती है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Velocity/वेग 
(c) Distance/दरूN 
(b) Acceleration/Qवरण 
(d) Speed/चाल 
 
41. Which of the following acts as a stored internal energy in plants?/2नHनJलgखत म7 
से lया पौधk म7 र�fत आंत9रक ऊजा: क/ तरह काय: करता है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Glucose/�लुकोज 
(c) Sucrose/सुXोज 
(b) Glycogen/�लाइकोजन 
(d) Starch/(टाच: 
 
42. Which of the following organisms is/are not unicellular?/2नHनJलgखत म7 से कौन-सा 
/कौन-से जीव एककोJशक/य नहNं है/हC? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Paramecium/पैरामीJशयम 
(c) Plants/पौधे 
(b) Amoeba/अमीबा 
(d) Chlamydomonas/lलेमाइडोमोनास 
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43. Apart from the nervous system, which system helps in control and 
coordination in our body?/तं|]का तं] के अलावा कौन सा तं] हमारे शरNर म7 2नयं]ण और 
सम5वय म7 मदद करता है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Excretory system/2नकालने वालN =णालN 
(b) Respiratory system/\वसन तं] 
(c) Digestive system/पाचन तं] 
(d) Endocrine system/अंत:�ावी =णालN 
 
44. Which of the following does not increase the rate of evaporation?/2नHनJलgखत  
म7 से lया वाpपीकरण क/ दर म7 व+ृuध नहNं करता है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) Decrease in temperature/तापमान म7 कमी 
(b) Increase in surface area/पpृठfे] म7 व+ृuध 
(c) Increase in wind speed/पवन क/ चाल म7 व+ृuध 
(d) Decrease in humidity/आY:ता म7 कमी 
 
45. Which part of the neuron is responsible for receiving information?/तं|] कोJशका 
(neuron) का कौन-सा भाग सूचनाएं =ा>त करने के Jलए उzरदायी हो ता है? 
Alp CBT-1 26 Nov 2024 Shift-I 
(a) तं|]काf (Axon) 
(b) कोJशकाकाय (Cell body) 
(c) Yमुाकृ2तक अ�भाग (Dendritic tip) 
(d) अंतम�थन (Synapse) 
 
46. Which of the following electrolytics is used in the electrolytic refining of 
copper?/कॉपर के वै+युत अपघटनी प9रpकरण म7 2नHनJलgखत म7 से Sकस वै+युत 
का अपघटनी उपयोग Sकया जाता है? 
Alp CBT-1 25 Nov 2024 Shift-II 
(a) Copper sulphate/कॉपर सqफेट 
(c) Cuprous chloride/lयू=स lलोराइड 
(b) Sodium sulphate/सोtडयम सqफेट 
(d) Copper oxide/कॉपर ऑlसाइड 
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47. Which of the following options In Thomson’s atomic model denotes the 
subatomic particles found?/2नHनJलgखत म7 से कौन-सा 4वकqप थॉमसन के परमाणु मॉडल म7 
पाए जाने वाले अवपरमाि�वक कणk को दशा:ता है? 
Alp CBT-1 25 Nov 2024 Shift-II 
(a) Protons only/केवल =ोटॉन 
(b) Only electrons/केवल इलेlmॉन 
(c) Both electron and proton/इलेlmॉन और =ोटॉन दोनk 
(d) Both proton and neutron/=ोटॉन और 5यूmॉन दोनk 
 
48. The gastric glands in the stomach wall do not secrete which of the 
following?/आमाशय Jभ4z म7 ि(थत जठर �ंuथयां 2नHनJलgखत म7 से Sकसका �ाव नहNं करती हC? 
Alp CBT-1 25 Nov 2024 Shift-II 
(a) Hydrochloric acid/हाइwोlलो9रक अHल 
(c) Pepsin/पेि>सन 
(b) Mucus/\लेpमा 
(d) Saliva/लार 
 
49. Which of the following is not an example of a homogeneous 
mixture?/2नHनJलgखत म7 से कौन-सा समांगी Jमvण का एक उदाहरण नहNं है? 
Alp CBT-1 25 Nov 2024 Shift-II 
(a) Powdered copper sulphate in water/जल म7 कॉपर सqफेट का चूण: 
(b) Sugar dissolved in water/जल म7 घुलN चीनी 
(c) Sugar dissolved in water/जल म7 तेल 
(d) Salt dissolved in water/जल म7 घुला लवण 
 
50. Which of the following environmental factors play an important role in 
determining the sex of some reptiles?/2नHनJलgखत म7 से कौन-से पया:वरणीय का रक कुछ 
सरN सपृk के Jलगं 2नधा:रण म7 मह�वपूण: भूJमका 2नभाते हC? 
Alp CBT-1 25 Nov 2024 Shift-II 
(a) Temperature/तापमान 
(c) Pressure/दाब 
(b) Soil/मदृा 
(d) Water/जल 


